Question and Solution of pre release material june 2016

Computer Science 2210
Note : Two solutions are given below, both of them are acceptable. Which ever solution you find easy, learn it for all three tasks.
(Images are not very clear so please open the site. Complete tasks and their solutions both are also available on the links)
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Output the contents and weight of an accepted sack If a sack is rejected, output the reason(s).

PSEUDO CODE FOR TASK 1 Using CASE Selection
02016

#Prerel

DECLARE Content: Char
DECLARE Weight: Real
READ Content
IF Content=*C" THEN
READ Weight
CASE OF Weight
<=24. PRINT "Sack is rejected due to underweight content”
>=25. PRINT "Sack is rejected due to overweight content”
OTHERWISE:  PRINT Content, Weight
ENDCASE 4
ELSEIF Content ='S” OR *G" THEN. )
READ Weight
CASE OF Weight
<=499:  PRINT "Sack s rejected due to underweight content"
>=50.1:  PRINT "Sack is rejected due to overweight content”
OTHERWISE:  PRINT Content, Weight
ENDCASE
ELSE
PRINT "Sack is rejected due to invalid content”
ENDIF
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RE Weight, THeight:®

ARE Content:c
- = DECLARE Count, COrder, SOrder, GOrder, TOrder, CountRejected:Integer =i
foet vour teacher
e ECLARE Cpeliver, Speliver, Gbeliver, Toeliver o

CountRejected € 0
G o Cpeliver € 0 |

Speliver € 0
Goeliver € 0

66 Teight € 0
EAD COrder, SOrder, GOrder

days unil Torder = COrdar + SOrdar + GOrdar.
CIE 2210 P1 Exam

Speliver < SOrder O Goeliver < GOrder

Coeliver < Corder
£A0 Content
IF Coaliver < Corder AND Content = "C* THE
EAD Weight
daysunta case oF Weight
CIE 2210 P2 Exam <=24.9, >=25.1: CountRejected € CountRejected + 1

o Coeliver = Coeliver + 1
THeight = THeight + Weight

£17 GDeliver < GOrder AND Content = "G"
D Weight Y

CountRejected € CountRejected + 1

Speliver = speliver + 1
THolght = THeight + Weight

LSEIF Speliver < SOrder AND Content
D Weight
<=49.3, >=50.1:  CountRejected € CountRejected + 1

Goeliver = Goeliver + 1
THeight = THeight + Weight

CountRejected € CountRejected + 1

“Total Rejected * ,CountRejected
“Total weight delivered * , THeight)
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oSS #Prerelease2016
‘A;e‘ sente a 1mr~um price applies oan output the new price for the order and the amount saved.
— PSEUDO CODE FOR TASK 3
— ectaration of contans & varisies

days untl Regulare;
CIE 2210 P1 Exam

ce, DiscountPrice, AmountSaved:

£ C, G, 5, Spectalvack

/[Calculation of regular price
Regularerice € (Corder x CPrice) + (SOrder x SPrice) + (GOrder x GPrice)
“total Price =, RegularPrice

days untl
CIE2210 P2 Bam /nitialization of temporary variables,and SpecialPack

© € corder
G € corder

5 € sorder

Specialrack € 0

/Calculation of number of special packs in order

Coml AN S>m2 AND Gu2
Specialzack € Specialvack + 1
cec-1
ses-2
cec-2

/Calculation of discount price & amount saved
Discountprice € (specialvack * Specialerice) + (C * Cerice) + (5
AmountSaved € Reguls
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Solution on youtube.com
https://www.youtube.com/watch?v=OgqR7CVC1EI
https://www.youtube.com/watch?v=Oa2WWPjbSaM
https://www.youtube.com/watch?v=FFeROkGfdZY
